Girls

Points By School

Place	School	Points
1st	Centralia	104
2nd	Veritas	99
3rd	Mission Valley	. 68
4th	Onaga	60
5th	Wetmore	29

Completed Events			
100 M Dash	200 M Dash	400 M Dash	
800 M Run	1600 M Run	3200 M Run	
4 x 100 (400 M) Relay 4 x 400 (1600 M) Relay		4 x 800 (3200 M) Relay	
100 M Hurdles	300 M Hurdles	Long Jump	
Shot Put	Discus	Triple Jump	
Javelin	High Jump	Pole Vault	

Incomplete Events		
All events are complete		

Meet Results By Division Girls

100 M Dash

Place	Contestant	School	Time
1st	Hodge, J	Mission Valley	13.46
2nd	Dover, Ali	Veritas	13.96
3rd	Ames, B	Onaga	13.97
4th	Niehues, S	Mission Valley	14.21
5th	Pfrang, N	Wetmore	14.36

200 M Dash

Place	Contestant	School	Time
1st	Husling, T	Veritas	28.03
2nd	Dover, Ali	Veritas	29.32
3rd	Haufler, K	Centralia	29.55
4th	Ames, D	Onaga	30.17
5th	Niehues, S	Mission Valley	30.26

400 M Dash

Place	Contestant	School	Time
1st	Husling, T	Veritas	1:04.36
2nd	Billings, L	Veritas	1:11.15
3rd	Schlesener, K	Mission Valley	1:16.56
4th	Korpi, K	Centralia	1:17.56
5th	Nowlin, H	Veritas	1:18.67

800 M Run

Place	Contestant	School	Time
1st	Rudman, E	Veritas	2:45.50
2nd	Glessner, B	Onaga	2:47.73
3rd	Koch, M	Centralia	2:59.05
4th	Van Meter, C	Mission Valley	3:02.80
5th	Bond, R	Veritas	3:04.10

1600 M Run

Place	Contestant	School	Time
1st	Jones, A	Centralia	6:18.20
2nd	Glessner, B	Onaga	6:18.80
3rd	Koch, M	Centralia	6:28.14
4th	Van Meter, C	Mission Valley	6:28.69
5th	Bartlow, A	Veritas	6:47.21

3200 M Run

Place	Contestant	School	Time
1st	Jones, A	Centralia	13:27.16
2nd	Bartlow, A	Veritas	14:15.72

4 x 100 (400 M) Relay

Place	Contestants	School	Time
1st	Ames, B Ames, D Marten, J Schwant, D	Onaga	55.77
2nd	Haug, M Haufler, K Grossmann, A Korpi, K	Centralia	1:00.43
3rd	Dover, Ali Billings, L Tefft, J Schlesener, A	Veritas	1:01.26

4 x 400 (1600 M) Relay

Place	Contestants	School	Time
1st	Marten, J Ames, B Ames, D Glessner, B	Onaga	4:41.59
2nd	Tefft, J Rudman, E Phillips, E Rask, B	Veritas	4:58.15
3rd	Burdiek, B Jones, A Koch, M Korpi, K	Centralia	5:04.57

Meet Results By Division Girls (Continued...)

4 x 800 (3200 M) Relay

Place	Contestants	School	Time
1st	Bond, R Rudman, E Phillips, E Rask, B	Veritas	11:27.00
2nd	Jones, A Koch, M Burdiek, B McNally, E	Centralia	11:35.62
3rd	Marten, J Schwant, D Falk, R Glessner, R	Onaga	12:03.66
4th	MV#13 MV#14 MV#15 MV#16	Mission Valley	12:48.98

100 M Hurdles

Place	Contestant	School	Time
1st	Kramer, D	Wetmore	17:28.00
2nd	Hodge, J	Mission Valley	18:02.00
3rd	Haug, M	Centralia	20:05.00
4th	Norris, H	Onaga	21:13.00

300 M Hurdles

Place	Contestant	School	Time
1st	Hodge, J	Mission Valley	52.42
2nd	Haug, M	Centralia	55.04
3rd	Phillips, E	Veritas	59.28
4th	Glessner, R	Onaga	59.37
5th	Schwant, D	Onaga	1:01.96

Long Jump

Place	Contestant	School	Distance
1st	Kramer, D	Wetmore	15'-1 3/4"
2nd	Husling, T	Veritas	14'-8 3/4"
3rd	Ames, D	Onaga	14'-2 1/4"
4th	Niehues, S	Mission Valley	14'-0"
5th	Ames, B	Onaga	13'-10"

Shot Put

Place	Contestant	School	Distance
1st	Seematter, A	Mission Valley	30'-10 1/2"
2nd	Hobkins, S	Wetmore	29'-2"
3rd	Hanzlik, R	Centralia	28'-7 1/2"
4th	Molden, K	Onaga	28'-1 1/4"
5th	Wiegert, K	Centralia	27'-11 1/2"

Discus

Place	Contestant	School	Distance
1st	Wiegert, K	Centralia	114'-7"
2nd	Schmitz, E	Centralia	85'-6"
3rd	Seematter, A	Mission Valley	71'-0"
4th	Glessner, R	Onaga	66'-6"
5th	LaFountain, M	Veritas	63'-7"

Triple Jump

Place	Contestant	School	Distance
1st	Husling, T	Veritas	31'-7 1/2"
2nd	Kramer, D	Wetmore	31'-6 1/4"
3rd	Niehues, S	Mission Valley	30'-4"
4th	Glessner, R	Onaga	27'-11 1/4"
5th	Schlesener, K	Mission Valley	27'-4 1/2"

Javelin

Place	Contestant	School	Distance
1st	Hodge, J	Mission Valley	108'-1"
2nd	Hanzlik, R	Centralia	87'-11"
3rd	Hasenkamp, L	Centralia	86'-7 1/2"
4th	Seematter, A	Mission Valley	78'-3"
5th	Wiegert, K	Centralia	74'-11"

High Jump

Place	Contestant	School	Height
1st	Phillips, E	Veritas	4'-8"
2nd	Marten, J	Onaga	4'-6"
3rd	Schlesener, K	Mission Valley	4'-6"
4th	Bond, R	Veritas	4'-0"
5th	Billings, L	Veritas	4'-0"

Meet Results By Division Girls (Continued...)

Pole Vault

Place	Contestant	School	Height
1st	Hasenkamp, L	Centralia	5'-4"
2nd	Grossmann, A	Centralia	4'-10"
3rd	Haufler, K	Centralia	4'-4"

Boys

Points By School

Place	School	Points
1st	Centralia	198
2nd	Mission Valley	68
3rd	Onaga	38
4th	Wetmore	30
5th	Veritas	18
6th	Kickapoo	6

Completed Events				
100 M Dash	200 M Dash	400 M Dash		
800 M Run	1600 M Run	3200 M Run		
4 x 100 (400 M) Relay	4 x 400 (1600 M) Relay	4 x 800 (3200 M) Relay		
110 M Hurdles	300 M Hurdles	Long Jump		
Shot Put	Discus	Triple Jump		
Javelin	High Jump	Pole Vault		

. Incomplete Events	
All events are complete	

Meet Results By Division Boys

100 M Dash

Place	Contestant	School	Time
1st	Glatczak, M	Centralia	11.38
2nd	Rush, C	Mission Valley	11.61
3rd	Turner, D	Centralia	12.01
4th	Tennison, M	Mission Valley	12.27
5th	Steinlage, S	Centralia	12.46

200 M Dash

Place	Contestant	School	Time
1st	Glatczak, M	Centralia	23.91
2nd	Turner, D	Centralia _	24.34
3rd	Tennison, M	Mission Valley	24.59
4th	VanDorn, W	Centralia	25.12
5th	Russo, A	Centralia	26.24

400 M Dash

Place	Contestant	School	Time
1st	Glatczak, M	Centralia	54.40
2nd	Eisenbarth, T	Onaga	56.08
3rd	Huerter, C	Centralia	1:03.44
4th	Andrade, G	Mission Valley	1:04.24
5th	Bowers, P	Centralia	1:04.47

800 M Run

Place	Contestant	School	Time
1st	Bond, C	Veritas	2:35.57
2nd	Durland, J	Centralia	2:37.82
3rd	Koelzer, G	Centralia	2:47.16
4th	Boyd, D	Mission Valley	3:02.82
5th	Whipple, G	Mission Valley	3:22.78

1600 M Run

Place	Contestant	School	Time
1st	Ballanger, J	Wetmore	5:30.07
2nd	Beck, A	Centralia	5:32.76
3rd	Henry, B	Centralia	5:36.44
4th	Frazer, M	Centralia	5:38.81
5th	McKinney, R	Kickapoo	5:51.15

3200 M Run

Place	Contestant	School	Time
1st	Ballanger, J	Wetmore	12:29.46
2nd	Frazer, M	Centralia	12:32.39
3rd	Beck, A	Centralia	12:51.71

4 x 100 (400 M) Relay

Place	Contestants	School	Time
1st	MV#1 MV#2 MV#3 MV#4	Mission Valley	47.80
2nd	Haufler, H Steinlage, S Rempe, D Turner, D	Centralia	48.43
3rd	Eisenbarth, T Bliss, M Bliss, K Chestnut, J	Onaga	51.10
4th	Kiefer, N Hosford, B Bailey, M Logan, R	Wetmore	52.58

4 x 400 (1600 M) Relay

Place	Contestants	School	Time
1st	Rempe, D Steinlage, S Haufler, H Burdiek, B	Centralia	4:07.03
2nd	Kiefer, N Ballanger, J Bailey, M Logan, R	Wetmore	4:13.16
3rd	Eisenbarth, T Bliss, K Ames, K Chestnut, J	Onaga	4:13.99

4 x 800 (3200 M) Relay

Place	Contestants	School	Time
1st	Koch, L Henry, B Durland, J Frazer, M	Centralia	10:20.23
2nd	Goforth, A Gudenkauf, A Ames, K Frederick	Onaga	11:41.62

Meet Results By Division Boys (Continued...)

110 M Hurdles

Place	Contestant	School	Time
1st	Burdiek, B	Centralia	19.98
2nd	Henry, B	Centralia	21.50
3rd	Boland, B	Veritas	21.86
4th	Bear, S	Veritas	23.90
5th	Durland, J	Centralia	24.52

Triple Jump

Place	Contestant	School	Distance
1st	Steinlage, S	Centralia	37'-11"
2nd	Rempe, D	Centralia	34'-10 3/4"
3rd	Goforth, A	Onaga	31'-10 1/2"
4th	Koelzer, G	Centralia	26'-10 3/4"

300 M Hurdles

Place	Contestant	School	Time
1st	Burdiek, B	Centralia	47.71
2nd	Henry, B	Centralia	48.58
3rd	McKinney, R	Kickapoo	55.66
4th	Bear, S	Veritas	55.80

Javelin

Place	Contestant	School	Distance
1st	Smallwood, C	Mission Valley	144'-2"
2nd	Bliss, M	Onaga	142!-5"
3rd	Tennison, M	Mission Valley	123'-1"
4th	Myers, G	Wetmore	106'-0"
5th	Negonsott, S	Kickapoo	100'-6"

Long Jump

Place	Contestant	School	Distance
1st	Glatczak, M	Centralia	19'-9"
2nd	Russo, A	Centralia	`18'-2"
3rd	Kiefer, N	Wetmore	17'-9"
4th	Bliss, K	Onaga	17'-7 1/4"
5th	Rush, C	Mission Valley	16'-8 1/4"

High Jump

Place	Contestant	School	Height
1st	Burdiek, B	Centralia	5'-8"
2nd	Eisenbarth, T	Onaga	5'-6"
3rd	Gilbert, C	Mission Valley	5'-2"

Shot Put

Place	Contestant	School	Distance
1st	Wines, D	Mission Valley	41'-7 1/2"
2nd	Smallwood, C	Mission Valley	40'-0 1/2"
3rd.	Ferron, J	Centralia	37'-5 1/2"
4th	Boland, B	Veritas	37'-1"
5th	Talkington, K	Centralia	36'-8"

Pole Vault

Place	Contestant	School	Height
1st	Huerter, C	Centralia	10'-6"
2nd	Beck, A	Centralia	9'-0''
3rd	VanDorn, W	Centralia	8'-0"
4th	Russo, A	Centralia	8'-0"

Discus

Place	Contestant	School	Distance
1st	Wines, D	Mission Valley	133'-6"
2nd	Talkington, K	Centralia	130'-6"
3rd	Smailwood, C	Mission Valley	109'-1"
4th	Mars, T	Centralia	106'-0"
5th	Ferron, J	Centralia	99'-4"